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Resit Exam of Algorithmics and Data Structures 2

In all exercises, the solution should be presented in algorithmic form rather than in the C language.
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Dans tous les exercices, la solution doit étre présentée sous forme algorithmique plutét qu'en langage C.
Exercise 1 (5.5 pts):

1) Write the iterative function nbMultIt that takes a positive integer n as input and calculates and
returns the number of values between 1 and n that are multiples of 2 but not multiples of 5.

2) Write the recursive function nbMultRec that takes a positive integer n as input and calculates
and returns the number of values between 1 and n that are multiples of 2 but not multiples of 5.
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1) Ecrire la fonction itérative nbMultIt qui prend un entier positif n en entrée et calcule et renvoie

le nombre de valeurs comprises entre 1 et n qui sont des multiples de 2 mais pas des multiples de 5.

2) Ecrire la fonction récursive nbMultRec qui prend un entier positif n en entrée et calcule et
renvoie le nombre de valeurs comprises entre 1 et n qui sont des multiples de 2 mais pas des multiples
de 5.

Exercise 2 (6.5 pts):

Write the function sumFromKth that takes a linked list of integers L and an integer k as input, and
that calculates and returns the sum of the elements of L starting from the k™ element onwards. If the
list does not contain enough elements to reach the k™ element, the function should return 0.

Note: Assume that the first element of the list is at position 1.

Example: 1f the list L is as follows:
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e For k =4, the function should return the value 8, which is the sum of 1 +5 + 2.
e For k =7, the function should return the value 0.
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Ecrire la fonction sumFromKth qui prend en entrée une liste chainée d'entiers L et un entier k, et

qui calcule et retourne la somme des éléments de L a partir du k™ élément inclus. Si la liste ne contient

pas suffisamment d'éléments pour atteindre le k'™ élément, la fonction doit retourner 0.

Remarque : Considérez que le premier élément de la liste est a la position 1.

Exemple : Silaliste L est comme illustré par la figure précédente :

e Pour k =4, la fonction doit retourner la valeur 8, qui est la somme de 1 + 5 + 2.
e Pour k =7, la fonction doit retourner la valeur 0.

Exercise 3 (8 pts):

Let S be a non-empty stack of integers:

1)

2)

Write the function average that calculates and returns the average of the elements in the stack S
passed as a parameter.

Using the function average, write the procedure split that takes as input a stack of integers S
and produces as output two other stacks, S1 and S2. S1 should contain the elements of S that
are strictly less than the average of the stack, and S2 should contain the elements of S that are
greater than or equal to the average of the stack. The original stack should remain unchanged.
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Soit S une pile non vide d'entiers:

1))

2)

Dr. Abderrahmane Kefali

Ecrire la fonction average qui calcule et renvoie la moyenne des ¢léments de la pile S passée
comme parametre.

En utilisant la fonction average, écrire la procédure split qui prend en entrée une pile d’entiers
S, et qui produit en résultat deux autres piles S1 et S2. S1 doit contenir les éléments de S qui
sont strictement inférieurs a la moyenne de la pile, et S2 doit contenir les éléments de S qui sont
supérieurs ou égaux a la moyenne de la pile. La pile originale doit rester inchangée.

Good luck « Our greatest weakness lies in giving up. The most
certain way to succeed is always to try just one
more time. »

[Thomas A. Edison]
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